Important Questions 8

Question 1: let A ={1,2,3,4}and R={(1,1),(2,2),(1,2)}.
[1] The reflexive clousures of R is :
[a] w; = {(1,1),(2,2), (1,2), 2,1)}. [b] w, = {(1,1),(2,2), (1,2),(3,3)}.
[clws = {(1,1),(2,2),(1,2),(3,3), (2,1), (44)}.
[d] ws = {(1,1),(2,2),(1,2),(3,3), (4.4)}.
[2] The symmetric clousure of Riis :
lalw; = {(1,1),(2,2),(1,2), (2,1),(33)}. [b] w,={(1,1),(2,2),(1,2),(2,1)}.
[clws = {(1,1),(2,2),(1,2),(21),(3,1),(1,3),(2.3), 3,2)}.
[dlws = {(1,1),(2,2),(1,2), (2.1), (33), (4,4)}.
Question 2: Let A = {b,1,3,¢,5}, R = {(b, 1), (5,¢), (¢, 3),(3,b)} and
D ={(3,b), (c,5),(c,c), (53)}
[1] The transitive clousure of R is :
[al w; = {(b,1),(5,¢),(c,3),(3,b),(53),(c, b)} .
[b] w, = {(b, 1), (5,¢),(c,3),(3,b), (5,3), (¢, b), (3,1)}.
[clws = {(b,1),(5,¢),(c,3),(3,b), (5,3), (¢, b), 3,1), (¢, 1), (5,1), (5, b)}.
[2] The symmetric clousure of Diis :
[a] D = {(3,b),(c,5), (¢, ), (5,3), (5,)}.
[b] D = {(3,b), (c,5), (c, ), (53),(3,5),(5,¢), (b, 3)}.
[c] D = {(b,3),(c,5), (c,¢), (53), (5,¢),(3,5),(3,3), (55)}.
[3] The transitive clousure of D is :
[al M = {(3,b),(c,5), (¢, ¢),(53),(c,3),(5,b)} .
[b]S = {((3,b),(c,5), (c,©),(53),(55), (35), (3,3)) }.
[c]Y = {(3,b), (¢, 5), (c,0), (53),(c,3), (¢, b), (5,b)}.



